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XYZ=87.36,89.99 , 94.11
Ar=25@1-319)Y
B1=2,5B;(by-by )Y
El = Zo {(EXC)/Y]

1 =020 (2
0= 1,byp= -0,4 Gin
% = 0,1108, = 1,000
n=P60

B1 Parame-|
ter: N

Ahpip1=6

A1

Cag,1=IA+B,T"?
Name and spectral range G
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 M 570_520 Bm
10 optimal colours (0) Y;,,=90, Y\=3,6
8 of maximum (m) Cpg for P60

y
100

=100 max: 490_77(

XYZy=87.36,89.99 , 94.11
Ar=25@-a0) Y

B, =2,5B; (b —by) Y

8y = ago [(X=x)/Y]

by =y [2M]
80=1,b0=-04 51
X, = 0,110, = 0,800

n = P60

By Parame-
100 ter: Y
Ahpzgy=6

A2

Cap ~IAF 4B
Name and spectral range 48
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 M 570_520
10 optimal colours (0) Y;,,=90, Y\=3,6
8 of maximum (m) C,g for P60

25

=100 max: 490_77(

V L o Y M C
http://farbe.li.tu-berlin.de/DEV6/DEV6LONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

XYZ,=90.83, 90.0 , 58.22
Ar=25@ -a; )Y
B1=2,5B;(by-by )Y

ag = ag [(x=xo)/Y]

by = byo [zA}
ayo=1,byy=-0,4
Xc=0,110B,=1,000 Gn
n="P40 _
Cap,1=[A1+B1]
Name and spectral rangeq"
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570 Bn,
Bm 380_520 M, 570_470

G, 520 570 M 570_520

10 optimal colours (0) Y;,,=90, Y\=3,6 ]
8 of maximum (m) Cpg for P40

12

B1 Parame-|

[-100 max: 495_77(

XYZ,=90.83, 90.0, 58.22
Ar=25@-30) Y
B, =2,5B; (b —by ) Y
2y = ago [(X=x)1Y]

b =y [2M]
ayp=1,byy=-0,4
Xc=0,110B, = 1,300
n = P40

By Parame-|
ter: Y

Cag ~IAF 4B
Name and spectral range47
Rm 570_770 ¥, 520_770

Gm 470_570 G, 380_570

Bm 380_520 M, 570_470
G, 520 570 M 570_520

10 optimal colours (0) Y;,,=90, Y\=3,6
8 of maximum (m) C,g for P40

21

=100 max: 495_77(

in chromatc value diagram(A,, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
DEV60-1N DEV60-2N

XYZ,=87.71,90.0 , 86.38 B1 Parame- XYZy=87.71,90.0 , 86.38 By Parame-
A=256;-a)Y 100 ter: N Ay=256-ay) Y 100 ter: Y

B1= 2,58 (by - by ) Y
ag =g [(x-X)Y]

by =byo [z
80=1,b0=-0,4 G
X = 0,1108, = 1,000
n=p

Ahpgp1=6

55
Caga=lA B2
Name and spectral range G,
Ry 570_770 ¥, 520_770
G 470_570 G, 380_570
Bm 380 520 M, 570_470
Go520 570 M 570_520

10 optimal colours (0) Yyy,10=90, Yy, 15=8.6,

8 of maximum (m) C,g for P55
in chromatc value diagram (A, By)

=100 max: 490_774
min: 380_490

B, =2,5B (b, - b2n) Y

8y = a0 [(X-X)Y]

by = by [2/M]
80=1,b0=-04 50
¥ = 0,1108, = 0,900
n=Pp

Ahppy=6

55
CAB,ZZ[A22+822] vz
Name and spectral range 48
Ry 570_770 ¥, 520_770
G 470_570 G, 380_570
Bm 380 520 M, 570_470
Go520_570 M 570_520

24

10 optimal colours (0) Yyy,10=90, Yy 15=8.6,
o NATT100 max: 490_774

8 of maximum (m) C,g for P55
in chromatic value diagram (A,, B,)

min: 380_490

DEV60-3N

DEV60-4N

in chromatc value diagram(A,, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
DEV61-1N DEV61-2N

XYZy=93.3,89.99, 47.19 B1 Parame- XYZy=93.3,89.99, 47.19 By Parame-
A=256;-a)Y T100 ter: N Ay=256-ay) Y ter: Y
B1=2,5B;(by ~by ) Y Ahpgp1=6 By =2,5B; (b, ~bp ) Y Ahppy=6

ag = ag [(x=Xc)y]

by =byo [z

35
Cag1=IA+B1M?
Name and spectral range
Ry 570_770 ¥, 520_770 B
Gm 470_570 G, 380_570 1
Bm 380_520 M, 570_470
G, 520 570 N, 570_520
10 optimal colours (0) Y;,,=90, Y\=3,6 ]
8 of maximum (m) C,g for P35

[-100 max: 495_77(

8 = A [(XXc)Y]

by = by [2/M]
ay0=1,byp=-0,4

Xc = 0,1108, = 1,800
n=pP

35
CAB,ZZ[A22+822] vz
Name and spectral rangeyg
Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 %
G, 520 570 N, 570_520
10 optimal colours (0) Y;,,=90, Y\=3,6
8 of maximum (m) C,g for P35

=100 max: 495_77(

XYZz,,=88.31,90.0, 77.85
A1=25@ -a;n)Y

By =258 (b -by ) Y

8y = agg [(X=X)/Y]

by =byo [z
ayo=1,byp=-0,4 G
%= 0,108, = 1,000

n=P

By Parame-|
ter: N

Ahagp1=6

50 o 22
Cag,1=[A1+B1]
Name and spectral range G
Ry 570_770 ¥, 520 770
Gm 470 570 G, 380_570
Bm 380 520 M, 570_470 By
G520 570 M 570_520
10 optimal colours (o) Y,=90, Y\=3,6
8 of maximum (m) Cyg for P50

[-100 max: 495_77(

XYZ,=88.31,90.0, 77.85
Ay=25@-ayY
By=25B¢(by -y Y

8y = ago [(X=X)1Y]

by = by [2/M]

80= 1,by0=-0,4 50
X, = 0,1108, = 1,000
n=P!

Parame-
ter: Y

S0 2,2
Cag,2=[A2 +B7]
Name and spectral range 47
Ry 570_770 Y, 520_770
Gm 470 _570 G, 380_570
Bm 380 520 M, 570_470
G,520_570 M 570_520
10 optimal colours (0) Yy,=90, Y\=3,6
8 of maximum (m) C,g for P50

23

—100 max: 495_774

in chromatc value diagram (A, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
DEV61-3N DEV61-4N

XYZy,=97.23,90.0, 35.59 By Parame- XYZ=97.23,90.0, 35.59 By Parame-
A =2561-a10)Y T 100 ter: N Ay=25@-ay) Y 100 ter: Y
By =2,5B; (b - by ) Y Ahp1p=6 B, =2,5B; (b~ by ) Y 70 DAhpopy=6

a1 = g0 [(x-X)Y]

by =byo [z 1
ayo=1,byp=-0,4
Xc=0,110B, = 1,000
n=P30 2
Cag,1=[A1+B1]
Name and spectral range
Rm 570_770 ¥, 520 770
Gm 470 570 G, 380_570
Bm 380 520 M, 570_470
Go520_570 M 570_520

10 optimal colours (o) Yy,=90, Y\=3,6
8 of maximum (m) Cyg for P30

12

[-100 max: 500_77(

Ay = ago [(X=X)1Y]

by =0 [2/Y]
80=1,by=-04 43

0° 47
X, = 0,110, = 2,500 Az
n=P0 , a1 t
Cap2=[Az +B7] 100

Name and spectral rang
Ry 570_770 Y, 520 77
Gm 470 _570 G, 380_570
Bm 380 520 M, 570_470
G520 570 M 570_520 19
10 optimal colours (0) Y\,=90, Y\=3,6
8 of maximum (m) C,g for P30

=100 max: 500_77(

in chromatc value diagram(A;, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
DEV60-5N DEV60-6N

XYZ,=89.28 , 90.0 , 68.46 B1 Parame- XYZ,=89.28 , 90.0 , 68.46 Parame-
A=25@1-39)Y T100 ter: N A=256-3,) Y T100 ter: Y
By =25B; (b —by )Y Ahp1p1=6 By=25B; (b by ) Y Ahpops=6

ag = ag [(x=x)/y]

by = by [2)]
ayo=1,byy=-0,4
X¢=0,110B,=1,000 Gnm
n=Pas a2
Cap,1=[A1+B1]

Name and spectral rangeQn
Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G,520 570 N, 570_520
10 optimal colours (0) Y;,,=90, Y=3,6 ]

Bny

8 of maximum (m) Cpg for P45
in chromatc value diagram (A, By)

[-100 max: 495_77(
min: 380_495

2y = ago [(X=x)/Y]

b = byo [2/4]
ay=1,byy=-0,4

%o = 0,110, = 1,100
n=P4

5

Cag ~IAZ+BST
Name and spectral range47
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380 520 M, 570_470 22
G, 520_570 M 570_520

10 optimal colours (0) Y,,=90, Y\=3,6 ]

8 of maximum (m) C,g for P45
in chromatic value diagram (A,, B,)

=100 max: 495_77(
min: 380_495

in chromatc value diagram(A;, By) min: 380_500 in chromatic value diagram (A,, B,) min: 380_500
DEV61-5N DEV61-6N

XYZ,=103.66 , 90.0 , 23.93 B1 Parame- XYZ,=103.66 , 90.0 , 23.93 By Parame-
A=25@1-39)Y T 100 ter: N Ar=25@-a) Y ter: Y
B1=2,5B;(by—b; )Y Ahpqp1=6 B, =2,5B; (b —by) Y Ahpopo=6
ag = agg [(x=x)/y] 2y = ago [(X=x)/Y]

by = by (2] T b = byo [2/4]

ayo=1,byy=-0,4 Y ay=1,byp=-0,4

X¢ = 0,110,B; = 1,000 Ri Aq X.=0,110B8,=3,700 45

n=P25 n=P25

Cag,1=IA+B,1"? G ™ 100 Cap =IAZ+BST 100
Name and spectral range B Name and spectral rang;6

Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G,520_ 570 N, 570_520
10 optimal colours (0) Y;,,=90, Y=3,6 ]

8 of maximum (m) Cpg for P25
in chromatc value diagram (A, By)

DEV60-7N

DEV60-8N

[-100 max: 505_77(
min: 380_505

Rm 570_770 ¥, 520_7
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 N, 570_520 17
10 optimal colours (0) Y;,,=90, Y\=3,6
8 of maximum (m) C,g for P25

in chromatic value diagram (A,, B,)

=100 max: 505_77(
min: 380_505

DEV61-7N

DEV61-8N

TUB-test chart DEV6; TUB-Relativity model of colour vision. Chromatic values for the adapt

to theOstwaldoptimal colours for 8 illuminants: P60, P55, P50, P45, P40, P35, P3hAB%=6
] M Y [0) L
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